PR Number: STF-2024-10-02362

PPMP Number: PPMP-2025-092524-0081

Office: CAC

Purpose: For CAC 2025 Activities

No.	Item Name	Quantity	Quarter	MOP	Status
1	A4 Paper One bond paper	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-114 (STF) Bid Price: 1,447.00 Quantity: 5 Total Cost: 7,235.00 PO Amount: 408,557.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-206441-2025-07-2476 Delivered Qty: 1 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
2	Acoustic Guitar New	1	1	Competitive Bidding	PO #: VSU-GOODS-25-29-120 (STF) Bid Price: 16,000.00 Quantity: 1 Total Cost: 16,000.00 PO Amount: 763,489.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-206441-2025-07-2450 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
3	Banduria 14-strings	4	1	Competitive Bidding	PO #: VSU-GOODS-25-29-114 (STF) Bid Price: 9,988.00 Quantity: 4 Total Cost: 39,952.00 PO Amount: 408,557.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-206441-2025-07-2476 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	MOP	Status
4	Folder, File, Long, 14pts, White	50	1	Competitive Bidding	PO #: VSU-GOODS-25-29-114 (STF) Bid Price: 9.00 Quantity: 50 Total Cost: 450.00 PO Amount: 408,557.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-206441-2025-07-2476 Delivered Qty: 453 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
5	Folder, File, Long, 14pts, White	25	2	Competitive Bidding	PO #: VSU-GOODS-25-29-114 (STF) Bid Price: 9.00 Quantity: 25 Total Cost: 225.00 PO Amount: 408,557.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-206441-2025-07-2476 Delivered Qty: 453 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
6	Folder, File, Long, 14pts, White	25	3	Competitive Bidding	PO #: VSU-GOODS-25-29-114 (STF) Bid Price: 9.00 Quantity: 25 Total Cost: 225.00 PO Amount: 408,557.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-206441-2025-07-2476 Delivered Qty: 453 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	MOP	Status
7	MARKER, Whiteboard, Black	10	1	Competitive Bidding	PO #: VSU-GOODS-25-29-120 (STF) Bid Price: 48.00 Quantity: 10 Total Cost: 480.00 PO Amount: 763,489.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-206441-2025-07-2450 Delivered Qty: 14 Received By: John Claire C. Limosnero Delivered Qty: 20 Received By: Joana Lin C. Sy Delivered Qty: 20 Received By: Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
8	Pen, Permanent Marker, black, fine tip	10	1	Competitive Bidding	PO #: VSU-GOODS-25-29-120 (STF) Bid Price: 38.00 Quantity: 10 Total Cost: 380.00 PO Amount: 763,489.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-206441-2025-07-2450 Delivered Qty: 20 Received By: Joana Lin C. Sy Delivered Qty: 20 Received By: Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	MOP	Status
9	Puncher, 2 holes, heavy duty	2	1	Competitive Bidding	PO #: VSU-GOODS-25-29-120 (STF) Bid Price: 220.00 Quantity: 2 Total Cost: 440.00 PO Amount: 763,489.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-206441-2025-07-2450 Delivered Qty: 5 Received By: Joana Lin C. Sy Delivered Qty: 5 Received By: Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
10	Record Book, Big, 300 pages	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-114 (STF) Bid Price: 154.00 Quantity: 5 Total Cost: 770.00 PO Amount: 408,557.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-206441-2025-07-2476 Delivered Qty: 10 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT